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Thm.
For every (undirected) graph G = (V, E) the following are equivalent:

(i) G and G are comparability graphs.

(ii) There exists a vertex ordering o of G

without . ... X . }. > and without £ . & . . 3. .

(iii) There exists an embedding V' — R? such that

wv € E if and only if  u, < v, & uy <,
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Thm 7.1.
For every graph G = (V, E) the following are equivalent:

(i) G is an interval graph.
(ii) 3 vertex ordering o without m
(iii) G is chordal and G is a comparability graph.

(iv) Cs Zina G and G is a comparability graph.

(v) There exists an ordering Aq,..., A, of the
inclusion-maximal cliques in GG such that

Vv € V the numbers in {7 | v € A;}
are consecutive in {1,...,x}.



Input : undirected graph G = (V, F).
Output : YEs if G is interval graph, NO otherwise.

1 Compute o1 with LexBFS;

Algorithm 9 : Recognition of Interval Graphs




Input : undirected graph G = (V, F).
Output : YEs if G is interval graph, NO otherwise.

Compute oy with LexBFS;
Compute o9 with LexBFS using o7 as tie breaker;
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Input : undirected graph G = (V, F).
Output : YEs if G is interval graph, NO otherwise.

N

Compute oy with LexBFS;
Compute o9 with LexBFS using o7 as tie breaker;
Compute o3 with LexBFS using o5 as tie breaker;
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Input : undirected graph G = (V, F).

Output

YES if G is interval graph, NO otherwise.

= WO N =

Compute o1 wit
Compute o5 wit
Compute o3 wit
Compute o4 wit

| exB
| exB
_exB

| exB

=3
=S using o7 as tie
=S using o9 as tie

=S using o3 as tie

PDrrea
Dre€a

Dre€a

Ker;
Ker;

Ker;
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Input : undirected graph G = (V, F).

Output

YES if G is interval graph, NO otherwise.

Gl BB WN =

Compute o1 wit
Compute o5 wit
Compute o3 wit
Compute o4 wit

N
N
N
N

| exB
| exB
_exB

| exB

=3
=S using o7 as tie
=S using o9 as tie

=S using o3 as tie

PDrrea
Dre€a

Dre€a

Ker;
Ker;

Ker;

Return whether o4 contains forbidden pattern;
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